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Assume that a person travels 50,000 miles per year with a car that gets 20 miles per gallon and his cost for gas is $10,000 per year and assume further that the end of four years or 200,000 miles he trades in his car. Now let us see what would happen if his new car gets 40 miles per gallon in relation to the overall usage of resources which humanity requires the Earth to provide our species. Upon driving his new 40 miles per gallon car three things could happen--1) he could drive the same number of miles and save $5,000; 2) he could increase the number of miles he drove--twice the number of miles at the same gas cost ; 3) he could do a combination of increasing the miles he drove  and saving money. I will not discuss alternative #3 as that will not change anything set forth below.

If he drove the same number of miles and saved $5000.00 there are only two things he could do with that money--- he could save or spend it. Again, saving some and spending some does not affect the analysis below. He could spend it by having another child, since the $5000 saving together with any other money he and his wife made would permit them to have another child. If he took this action, the resources used by the additional child over that child's lifetime would far exceed the resource savings due to the increase in miles per gallon. In other words, as far as the Earth is concerned the increase in miles per gallon would result in far a far greater usage of total resources. If the person spent the money by taking a vacation to Europe by plane or by taking a cruise around the world, those actions would probably result in the increase in total resource usage. If he purchased a shirt that would require a factory to make the shirt, heat in the factory, electricity to run the sewing machines, a farm to grow the cotton to make the shirt, a truck to haul the cotton from the farm to the factory, a truck to take the shirt to a store to sell the shirt, the use of fossil fuel to heat the store, paper to wrap the shirt, etc. In simple terms, if the man used the $5000 to make purchases of any type, those purchases would probably use more of the Earth's resources than were saved by the increased gas mileage..  
If he saved the $5000 and put it in a bank, the bank would not leave it sitting doing nothing. Rather, in order to make a profit the bank would have to lend out money to a borrower. In all probability, the borrower would use the money to build a factory to make a product and that factory and that product would require the use of a large number of resources similar the resources mentioned above regarding the shirt. Here too the result is the same. If he saved the money and placed it in a bank that would result in the use of additional total resources.. If he bought a government bond or if the government obtained the $5000 through taxation the government would use the money to buy a new fighter plane and that act would result in a very substantial increase in the use of resources which the Earth would be required to supply to humanity. 
To summarize the above, if he drove the same number of miles it would result in an increase in the usage of the resources the Earth provides humanity compared with the savings in resources caused by the increase in miles per gallon.

Now let us look at what would happen if he doubled the miles he drove-- his gas cost would be the same due to the increase in miles per gallon. However, now he would be driving 100,000 miles per year and instead of getting a new car every four years he would get a new car every two years (or 200,000 miles), he would use more tires,, he would increase his CO2 output,, he would use more brake pads,, he would use more windshield wiper, he would increase the number of oil changes his car received causing more waste, the roads would wear out quicker due to the additional mileage, traffic would increase., etc.  To summarize, while his cost for gas would not increase, he would use more of the Earth's resources each year than were saved by the increase in miles per gallon.

There is an economic principle that the cheaper a resource is the more of that resource will be used. While a number of economists have criticized and attacked that principle, none to my knowledge has included in their attacks the additional resources which will be used by humanity due to the savings due to the cheaper cost. See the Jevon Paradox and/or the Khazzom-Brookes Postulate which can be located by any search engine.   

The only way an increase in miles per gallon can result in total resource savings would be for the person to drive the same number of miles and flush the money he saved down the toilet and that will not happen.

The same ideas apply to a business which through new technologies saves resources. I will not go into a detailed description of how those savings will result in the increase of total resources which the Earth will be required to supply to humanity.

To put it simply, increasing the miles per gallon most likely would not result in an overall savings in resource usage. Rather, a very strong argument can be made that increasing the miles per gallon of gas would result in an overall increase in the usage of the Earth's resources. While this example relates to miles per gallon of gas, the same analysis can be applied and will be applied to almost every potential savings caused by new technologies and environmentalism. The point of this essay is to not have humanity bow down to the gods of environmentalism and new technologies. We must analyze in detail every potential savings caused by environmentalism and new technologies to determine if the potential savings apply to all the resources the Earth provides to humanity.
